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All questions are compulsory.
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Question Nos. 1 to 5 are very short answer type questions. Each
question carries 1 mark. Answer should be given in 7 word or ]

sentence.
99 FHIE 6 § 10 T ToF T W 2 37 afed § | (I=R-T 30 9=)

Question Nos. 6 to 10 carry 2 marks each. (Word-limit 30 words)
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Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
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Question No. 23 carries 4 marks. (Word-limit 70 words)
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Question Nos. 24 to 26 carry 5 marks each. (Word-limit /00 words)
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Draw clean and labelled diagram wherever necessary.

NM-39 A

P.T.O.



710

a —

[2]

freslt Tred @ g = e v T §, g
Bleeding stops by rubbing alum, why?
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What is denatured alcohol?

FI W T Yo7 ol Ted £ 7 o m
What is called oil of bitter almond?
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Why secondary amines are more basic than the primary amines?
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Name the sugar present in the milk.
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Calculate the mass percentage of benzene (C4H,) and carbon tetra-
chloride (CCly), if 22 gm of benzene is dissolved in 122 gm of carbon

tetrachloride.
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What is energy barrier? Explain.
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Noble gases have comparatively large atomic size, why?
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Explain Hofmann mustard oil reaction giving chemical reaction.
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How aminoethane (cthylamine) is obtained from acetaldehyde (ethanol)?
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State Henry’s law and mention its two applications.
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Explain what is called pseudo-first order reaction by taking one example.’
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Write three differences between Lyophilic and Lyophobic colloid.
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How sulphur dioxide is prepared in laboratory? Explain the bleaching

property of sulphur dioxide.

FR-eeier Afe w2 fA @ oim-teiom difel 1 G
fafaw) . [1+2=3]
What are inter-halogen compounds? Give the structures of any two

inter-halogen compounds.

frefafaa Sygggarst Afel & IUPAC =M fafax : [1+1+1=3]
() K [Ni(CN),]

(i) [CoCly(en),]Cl

(i) [Cr(NH5)gl**

Write the IUPAC names of the following coordination compounds :

(i) K,[Ni(CN),]

(if) [CoCl,(en),]Cl

(iif) [Cr(NH;)3*
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Explain SN (uni-molecular nucleophilic substitution) reaction with

example.
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| How the following compounds can be obiained from pheno!"."
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() 2,4, 6-Tribromophenol

(ii) Benzene
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What is Williamson’s continuous etherification process? Is it a

continuous process? Give reasons.
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What is Urotropin? Write its structural formula and uses.
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What happens, when—

() acetaldehyde reacts with Fehling solution;

(i) acetic acid reacts with phosphorus pentachloride?

DNA 391 RNA 3 ¥ #i= s fafan| ' (3]
Write any three differences between DNA and RNA. : i
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Distinguish between the following pairs :
(i) Crystal laltiée and Unit cell

(if) Tetrahedral void and Octahedral void
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What is face-centered cubic (f.c.c.) cell? Explain with diagram.

Calculate the number of atoms in unit cell.
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What is Kohlrausch’s law? Explain its any two applications.
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Explain the redox reaction with example. Write the definition and

unit of the specific conductance and molar conductance.
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fafaw) [1+2+2=5]
What is lanthaneid contraction? Write two causes and two

consequences of lanthanoid contraction.
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What are transition elements (d-block elements)? Explain giving reasons—
() transition metals and many of their compounds show

paramagnetic behaviour;

(if) transition metals generally form the coloured compounds.

WA-26 frafafas  sfufraeil =) omeme (vaw goEbe SR
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(iv) e sfufswan

(v) FAHTEA 399

Explain the following reactions (write only chemical equations) :
({) Acetylation

(if) Decarboxylation

(i) Friedel-Crafts reaction

(iv) Schmidt reaction

(v) Clemmensen reductiop
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How will you bring about the following conversions in not more than

2 steps?

(i) Propanone to propene

(i) Benzaldehyde to benzophenoﬁe
(iii) Ethanol to 3—hydroxybutanal

(iv) Benzoic acid t0 benzaldehyde

(v) Bromobenzene 0 l—phenylethanol
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